s iE 300

R F BB IHEEE Fam BHAELRERHM %.ﬂ
BT 43 4 & 3K T{;:F:._,’lfc-*"‘; sy A

=r-9
m

( ~)(18%) To calculate out the COD (mg/L as O1) and the TOC (mg/l. as C) and the
COIYTOC ratio from the mass concentration of 1000 mg/L of following
compounds, respectively.

(1) Methanol CH;0H
(2) Glucose CoH, -0,
(3) Formic acid HCOOH

() (16%) To write out four molecular formula of nitrogen (N} components and four
sulfur (S) components and their 1 morganic valence number (for example, -2 10 +6)
that presented in aqueous solution,

(1) Nitrogen (N)
(2) Sulfur (§)

(=) (8%) (1) To explain the reaction mechanism of sunshine photocatal ytic ozonation
of the uncombusted gasoline (hydrocarbon).
(2)What major products of the photocatalytic ozonation will be formed and the
aerosol will turn to be fog or smog.

(F¥) (8%) To define the terms of pollutant source with full name and their chemical
structure.

(1) PCB
2) Dioxin
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